
These circled coins add up to £4.95, the amount 
Stanley would need to buy a retro vinyl record.

STANLEY’S SAVINGS 
SUMS
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PLAYSTATION 
GAME ROUTE

Stanley should 
choose route B to 
achieve his savings 
goal of buying a 
Playstation game 

A YEAR’S WORTH OF TREATS 
MIGHT COST...

Item   Cost
A fizzy drink to quench your thirst = £1.80
A new pair of trainers to help keep you fit  = £28.00
A snack for lunch with friends = £2.75
A pair of sunglasses to protect your eyes = £6.00
A comic to keep yourself entertained = £3.50

                                                                 TOTAL  = £42.05p

MULTIPLICATION WHEELS
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Stanley’s Puzzle Solutions


